
A bag contains 5 white balls, 6 red balls and g 
green balls. A ball is drawn at random from the 
bag. Find the probability that the ball drawn is: 
(i) a green ball 

(ii) a white or a red ball. 

(iii)Neither a green ball nor a white ball 
Solution: 

Number of white balls = 5 
Number of red balls = 6 
Number of green balls= 9 
.·. Total number of balls= 5 + 6 + 9 = 20 

Number of Green bells _ _2.. (i) P(Green bell)- Total number of bells 20 

(ii) P(White bell or Red ball)- P(Whbite belflW)+h~1teR~:l~ell)Number of Red bells Num er o + b II• • Total number (l bells Total number of e . 
5 6 --+-20 20 
11 --20 

ell White ball)• P(Red bell) (iii) P(Neither Green b nor Number of Red balls 

• Total number of balls 
6 

- 20 
3 --10 



A game of numbers has cards marKea w11r1 1 , , , L 

13, ..... , 40. A card is drawn at random. Find the 

probability that the number on the card drawn is: 

(i) A perfect square 

(ii) Divisible by 7. 

Solution: 

Total number of outcomes= 30 

(i) The perfect squares from 11 to 40 are 16, 25 

and 36. So, the number of possible outcomes= 3 

Hence, the probability that the number on the card 

drawn is a perfect square 

--
Number of possible outcomes 3 ---

Total number of outcomes - 30 -

(ii) Among the given numbers, 14, 21, 28 and 35 

are divisible by 7. So, the number of possible 

outcomes = 4 Hence, the probability that the 

number on the card drawn is divisible by 7 
_ Number of possible autoomes --==--=--~---~:.:.::_- 4 _ 2 

Total number of outoomes - 30 - 15 



lw a card from the box. What is the ---
probability that the card drawn is: 

i. a vowel 

ii. a consonant 

iii. none of the letters of the word median? 

Solution: 

Here, Total number of all possible outcomes= 16 

i. a, e, i and o are the vowels. 

Number of favourable outcomes = 4 

:. Required Probability= 
Number of favourable outcomes 4 1 

_T_o...;;.t..;..:al=n=um.;....,;,;;;_b=er;..;;;o.;;.;_f....;;all~p....;os....;si;,_b_.;.le;.;..o.;..;.u_tc..;..:o....;m_es_ == 16 == 4 

ii. Number of consonants = 16 - 4 (vowels) = 12 

.·. Number of favourable outcomes= 12 

. ·• Required Probability= 
Number of favourable outcomes _ 12 _ 3 

Total number of all possible outcomes - 16 - 4 

iii. Median contains 6 letters . 

. ·. Number of favourable outcomes = 1 6 - 6 = 1 o 

. ·. Required Probability = 
N1 P nf "'"' ... 1A ~ -~ - - ---. - -



---A7:fox contains a certain number of balls. On each 

of 60% balls, letter A is marked. On each of 30% 

balls, letter B is marked and on each of remaining 

balls, letter C is marked. A ball is drawn from the 

box at random. Find the probability that the ball 

drawn is: 

i. marked C 

ii. A or B 

iii. neither B nor C 

Solution: 

A box contains, 

60% balls, letter A is marked. 

30% balls, letter B is marked. 

10% balls, letter C is marked. 

i. Total number of all possible outcomes= 100 

Number of favourable outcomes= 1 O 

: . Required Probability= 
Number of favourable outcomes 

Total number of all possible outcomes 
10 _ 1 
100 - 10 

ii. The probability that the ball drawn is marked A= 
Number of favourable outcomes 60 6 

Total number of all possible outcomes 100 == 10 

... ( 1 ) 



... (2) 

• Re·-··qu·11re·· d· Prob·ab1·1i·ty ~ 6 + 3 9 
• • • .•• • • ·• •. • • • • • •• • · ..• ·•• •· • ·• .. ••• 

1 
I ·•· = 10 10 = 10 

iii. The probability that the ban drawn is neither B 

nor c 
= 1 - [P(B) + P{C)] 

. 3 1 -
= 1 - [ 10 + 10] 

4 
= 1 - 10 

6 =-10 
31 - -

--- !!!!!!!!II""' 

5 



Question 38. 

A box contains a certain number of balls. Some of 

these balls are marked A, some are marked Band 

the remaining are marked C. When a ball is drawn 

at random from the box P(A) = ½ and P(B) = ¼. If 
there are 40 balls in the box which are marked C, 

find the number of balls in the box. 

Solution: 

P(C) = 1 - [P(A) + P(B)] = 

1-[½+¼] =1-i=-& 
Probability = Number of favourabl~ outcomes 

Total number of all possible outcomes 

Given that 40 balls in the box are marked C. 
⇒ ..Q... _ 40 

12 - Total number of all possible outcomes 

⇒ Total number of all possible outcomes= 
40 x 12 = 96 

5 
.·. the number of balls in the box is 96. 
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